bl

He

]

1H
fxD b

H
44 4J30H
= fHh2-15-20

%
—fRAEE A

A
A
WA B HX

B i

3
H 3% 5/
£}

SIIIOIOIIIIIIGIIIIIIOIIOIOIIIIIIIIIIIIIOIOIIIIIGIIIIIIIIIOIIBIIIIIIIIIIOROOR



=

—MAEHEN O

fify > H&E&  F&

(HAZ : /M)

SF0 45 AH30H BIE

T E o (= (- OB |
i H % i B H % %
it # & #E] | 4,162,612]| [ ® A  F] | 480, 974]
Boe b OHE A 4,162, 612 R A & 475, 174
KL BN BLFE 5, 800
(E = # F | 4, 000, 000]
R £ & W & 4, 000, 000
A o W F 4, 480, 974
MoE E o
%k + & K] I 1318, 362]
Fl & W & 4] | [ A318, 362]
(Z O F 45 4 42) | ( A318, 362)
R I T S o A318, 362
W& E o H A318, 362
& E O W OFh 4,162, 612 BLIE - A E D EREE 4,162, 612




=
(BAL - [9)
H & 34 51 1H
—RtEEEN DD E AR 44 4301
B E & #

(e R O E I ] 24, 338
HoO¥ M &% 124, 338

[= % 4 e 48]
% W MR 5 5
S| I £ A24, 333
GG 124, 333
EINNEEHEVITAOE = ) 70, 000
EST I R B £ 194, 333




Hiw 5'C %45 -

e B B E PN BN R

(BAL : 1)

H ©Ff 34 5H 1H

—RtEEEN DD E AR 44 4301
B E & #
ZiE N/ 600
3G 5 2 22, 110
X o F BB 1, 628
= al 24, 338




